e RN-1 Professional RIVET NUT SETTER 39300

B OPERATION INSTRUCTIONS [RI&E L R R T L N SRl e o

Bb) If long type Rivet NubThread-Sert
(D) is not installed firmly with
‘Workpiece (2 after the first setting,
just turn Mandrel knob (2
clockwise to snter more Mandral
Threads @into the non-firm Rivet
NutThread-Sert (Duniil Tool
Waorking Nosa G touches the
Head @ of Rivel NulThread-Sert.
Slowly squeeze again Tool
Handles to drive Mandrel (Dinto

g Nose (3 unii hand force

‘zoqm
It more than cne squesze to install
Rivel Nut/Thread-Sart, il is not

necessary to set the Stroke Bolt, just
keap Stroke Bolt to the lowest position,

can not move and Rivet Nut!
Thread-Sert (Dis firmiy fastened
with Warkpisce @.

9) Reiease Tool Handies () fuily and
rotate Mandrel Knob @ to unscrew
Mandrel from the installed Rivet
NuliThread-Sart (). Now the
Ihreads of Rivel NubThread-Sart
ara bullt up sacuraly In the
Workplece (4).

Kiik® Rivet-Nuts/Thread-Serts (x), Other Rivet-Nuts/Thread-Serts (o)

Thread Paoly-Nuts

Rivet-Nuts Thread-Serts

Ribbed Rivet-Nuts

Size A

| “steal

Stael Alumi Stesl

LR R

Hix M M (% x| x

o

=

=
o|o|o|o

»

olofo|o|x x|x | x|x x|x

ojo oo

Made in Taiwan

10) Fasten an Object {Dby scrawing a
Bott or a Scraw @) a the inslalied
Rivel Nut'Thraad-Sert G

[NOTE]

IF the next fasteing Rivet Nut!
Thread-Sert 1s same size as
previous one, (o Not Need Any
Adjustment! Jus! repeat above 7)
ta screw Rivet NutThread-Sert
onto Mandrel and follow Ba)-8b)
to fagten Avet NutThraad-Sert,
finally follow abave 9) to unscraw
Mandrel from the installed Rivet
NutThread-Serl,

©2008 MARSON

e RN-1 Professional RIVET NUT SETTER 39300

B PARTS LIST

U.S. PATENT 5,729,880

Threadad Mandrel
Knob with Size Mark

1 M39180

Upper Handle

a - M39350 Aluminum Body Pl =
3-8 M39381 Mosepiace, for #8 Rivat Nut o
B Magasz Noseplece, for #8 Rivet Nut
310 _ m39383 Nosepiece, for #10 Rivet Nut :
ESE i M39379 Nosepiece, for 1/4" Rivet Nut
T aima M3G374 Nosepi for M4 Hivet Nut
3Ms |  M30373 __Nosepiece, for MS Rivet Nut R Rl
3-Me M3BITE Mg U for M6 Rivet Nut
4-832 M39354 | Threaded Mandre r 6-32 Rivet Nut
4-832 | Masass Threaded Mandrel, for 8-3
4-1024 M32356 " Threaded Mandre
4-1032 | M39357 Threaded Mandrel, for 10-32 Rivet Nut B
4-1420 M39358 Threaded Mandrel, for 1/4-20 Rivet Nut p
4-1428 M33371 | Threaded Mandrel, for 1/4-28 Rivet Nut ]
5-51618 M39359 | Threaded Mandrel, 3-PC Type, for 6/16-18 Thread-Sert/Rivet Nut z
. 5-51624 | M3D3TZ Threaded Mandrel, 3-PC Type, for 5/18-24 Thread-Sert/Aivet Nut___
5-3816 [ mMa3gasn Threaded Mandrel, 3-PC Type, for 3/8-16 Thread-Seri/Rivet Nut
4-M407 M39366 Threaded Mandrel, for M4x0.7 Rivet Nut
4-M508 M38367 Threaded Mandrel, for M5x0.8 Rivel Nut E
..... 4-MBE10 M3IS3E8 Threaded Mandrel, for M&x1.0 Rivat Nut o
5-MB125 M39389 Threadsd Mandrel. 3-PC Type, for M8x1.25 Thread-Seri/Rivet Nut
6 N : M39264 _ Collet Case o N
7 Masasz Adjusting Knob 5 3
B | M39365 Lock Nut - ) - B -
k) M39376 Stroke Bolt Bt AT - M
T M39378 Stroke Nut
T e waa M3giaz | Torsion Spring
12 m39133 Torsion Spring Pin__ 5
13 |?_m..nw..mmmll ; “Fulcrum Pin + _n_.ﬂuﬂﬂvﬂ;. mwmm_un + m_._mu Aing
14 M39192 Cu_um« Grip
15 M38334 __ Lower Grip + Bead Chain Lock
16 M39349 Wrench =

OPERATION INSTRUCTIONS ON REVERSE SIDE

©2008 MARSON



et RN-1 Professional RIVET NUT SETTER 39300 [l gy RN-1 Professional RIVET NUT SETTER 39300

i o_ummpdoz INSTRUCTIONS [ mmzsm M3 ~ M6 and 6-32 ~ 1/4-20 Rivet Nuts B OPERATION INSTRUCTIONS [3; m&_a M8, 5/16, 3/8 Alum Rivet Nuts/Thread-Serts

= 1) Drill the suppliers 5} Scraw the Rivet Nut (1) onto Threaded 1) Dritl the suppliers @ 5) Screw the separaled Mandrel into
” recommended hole size for Mandrel by twrning eithor Rivet Nut (1) recommanded hole size for e i o Knob Assembiy until Knob Assembly
= the Rivet NutThread-Sert or Threaded Mandrel Knob (until the Thread-Sart/Hivet Nut o L o touches Adjusting Knob (3. By using
- selected into the workpiece Rivet Nut Head (Bilouches Noseploco d into the workpiece the slot, turn the Nosepiece Wrench
< as shown in fig. 1 @. The Rivet Nut End should be and Scrow Driver clockwise to fastan
% fiush with the Threaded Mandrel End the separated Mandrel and Knob
5]

Assembly together firmly @),

A
...w. as shown in fig. 1 ﬁw
G 7
R
2

6) Insarl the screwed Rivel Nu! (Dinto
tha drilled Hale of Workpiece @),

2) Still lock Tool Handles,
turn up Adjusting Knob ()

2) Tha Mandral and Knob &) Ratala Adjusting Knob (D to adjust

and Lock Nut (@, then

Ipose Bead Chain Lock
3 1o open Tool Handies
fully @), and turn down
the Stroke Boit and
Stroke Mut (B to the
lowest posilion.

squesze Tool Handles (T until Rivet
Mut i5 instatled firmly by farming &
bulge (D against the back of
Warkpiece (2); still hoid Too! Handlas
@ and adjust Stroke Bolt @up 1o
touch Upper Handle &), then turn up
Strake Nut (Mo lock Stroke Bolt @)
position, Mow the proper Stroke is
built up to protact tha Rivel Nut

threads and this Rivet Nul Tool as well.

NOTE
3) Selact Noseplece (i) and oTe)

Threaded Mandrel (@) to
bo sama size as Rivet
Mut threaded size,

A propar Stroke ensures Fivel Nut threads to be instatied securely, 50
THE PILOT TEST IS ALWAYS RECOMMENDED BEFORE INSTALLING
DIFFERENT SIZES OF RIVET NUT.

exchange Mosop D

by Wranch (), and insert arm .
Threaded Mandral () Into i Lk A i
Adjusting Knob @. The £l 0

Threaded Mandrel Knob
@ should touch Adjusting
Knob @),

4) Rotate Adusting Knob (T)
to adjust thread length &
of Threaded Mandrel to be
sama as Rivet Nut length

@, than wm down the

Lock Nut @) to lock
Adjusting Knob () position
firmily.

7) Relesse Tool Handles (D tully and

ralate Threaded Mandrel Knob @ 1o
unscrew Threaded Mandrel from the
instalied Rivet Nut (@). Now the Rivet
Mut thraads are built up securely In
the Warkpieca @).

8} Fasten an Object (1) by

serewing a Bolt or a Scraw (&)
to the installed Rivet Nut (3.

INOTE |

If the nex! lastening Rivet Nut is
sama size as pravious ana, Do Mot
Need Any Adjustmant!

Just repeal above 5) Lo sorew Rivet
Nut onta Threaded Mandrel, then
squeeze Tool Handles 1o lasten
Rivet Nut until Upper Handla
touches Stroke Boil, finally follow
above 7) to unscraw Threaded
Mandral from the instalied Rivet Mul.

Assembly of the deliverad
M8, 516, 38 Mandrel are
already assemblad. The

@, while the Knob with

Unserew Mandrel () from
the Knob Assembly (6.

3} Still lock Tool Handles,

and Lock Nut | than
lpoze Bead Chain Lock
(3} 10 open Tool Handles
fully (@, and turn down

thread length of Mandrel @ to be
same as length of Aivel Nut/

Knob with straight lines (0
is Matric size M8 Mandral

cross (@ Bres is Inch size
5/16 and 3/8 Mandrels &.

Thread-Sert &), then turn down the
Lack Nut @) to lock Adjusting Knob
(D position firmly.

W B

tumn up Adjusting Knob (D

7} Scraw the Rivet NubThread-Sart (T
onte Mandrel by turning either Rnvel
Nut/Thread-Sert (Dor Mandral Knob
@ until Rivet NuvThread-Sert Head
@ touches Working Nose @. The

Rivet MulThread-Sert End should

the Stroke Bolt and
Siroke Mut (8 10 the
fowest position.

be flush with the Mandrel End.

4) Unscrew to remove
Nosapigce from
Working Nose {11,

[NOTE |
The M8, 516, 38
Mandrels Do Not Need

Bajinsert the scrawed Rivel Nut/
Thread-Sert (Thinto the driled Hale of
Workpiece (@, squeeze Tool Handles
(Funtil Aivet NutThread-Sert is
installed firmly by forming a bulge (&
against the back of Workpiece (2 ; stilt

Any Nosepecs 10 sal
Thread-Sers/Rivet
Muts.

Insert the U-Groove
End of separated

hold Tool Handles (P and adjust
Stroke Bait (Blup to touch Upper
Handie @, than tum up Stroke Nut (D
to lock Stroke Bolt (8 position, Now
the proper Stroke is built up o pratect

i into Warking
Meose @until the
U-Groova is stuck in
the Adjusting Knob (5,

the the threads of Aivet Nut/
Thread-Sart and Ihis Tool as well.

NOTE

A proper Stroke ensures threads of Rivet NutThread-Sert lo be installed
sacuraly, SO THE PILOT TEST IS ALWAYS RECOMMENDED BEFORE
INSTALLING DIFFERENT SIZES OF RIVET NUT/THREAD-SERT.

MORE INSTRUCTIONS ON PAGE 4



